The world of wheels

LS «RIYYY D451

donyaiecharkh.com :



Safa
Highlight


Medical Casters ‘ ' ? }ﬂ
2

The world of wheels

Furniture Casters Industrial Casters

ui-‘-"'ﬁ'-“t#



The world of

?;.
G

b
i T ..).", ."g"

5o { e
“-"“'"f“v \
v ol S S
i : N
<% v . 1 ’\\’_), - "_ -y L - - - . & Ay e '. o B - 25 LYY 4
. " L N - 7 '



donyaiecharkh.com ,; +41YYYH.47%



donyaiecharkh.com 7742  «]1YYYH+474

The world of wheels




donyaiecharkh.com ,; +41YYYH.47%



donyaiecharkh.com ,; +41YYYH.47%



donyaiecharkh.com ,; +41YYYH.47%



donyaiecharkh.com ,; +41YYYH.47%



donyaiecharkh.com ,; +41YYYH.47%






donyaiecharkh.com ,; +41YYYH.47%



sCast iron wheels with elastic

-) ‘_T e e rury
G@ Tl e [

= —
PLS 100 42 155 15 150 1580 148115 1
PLS 130 42 180 20 200 15680 1917
PLS 160 42 200 20 300 130:80 165:128 ¥
PLS 200 42 250 20 400 132405174146 B
PLS 250 42 300 20 500 132100 175450 16

» Cast iron wheels with elastic

L

11580 148415

PLF 130 42 180 20 200 11580 149117 1
PLF 160 42 200 20 300 13090 165x128 19
PLF 200 42 250 20 400 132405 174x146 16
PLF 250 42 300 20 500 132400 17550 B

sCast iron wheels with elastic

E@“‘”’@W’g ...

PLB 100 42 18§ 15 150 15480 148115 12
PLB 130 42 180 20 200 11580 149117 12
PLB 160 42 200 20 300 130:30 1654128 ¥
PLB 200 42 250 20 400 132105 174146 16
PLB 250 42 300 20 500 132400 175150 16

donyaiecharkh.com ,; +A1YVYYH.474

The world of wheels



= Cast iron wheels and castors

B - & -

PRS 100 42 155
PRS 130 42 180
PRS 160 42 200
PRS 200 42 250
PRS 250 42 300

= Cast iron wheels and castors

15
20
20
20
20

50
200
300
400
500

R 155
PRF 130 42 180
PRF 160 42 200
PRF 200 42 250
PRF 250 42 300

0ACTIL S
OACTILF 160 50 200

donyaiecharkh.com L” +AYYYH-479

14

-‘W[hh’:

1000 QO 70:120 110160
1000 () 70x120 110460

G @ Ol g~

L 3
[ ]

¢ @
(2

o
L3

—

115:80 148«115
11580 W17
130x90 1684128
1224105 174146
122100 175150

o @
P ®

11580 149117
13090 165:128
132105 174146
132x100 175150

12
12
14
16
16

12
1
f4
ié
%

12
12



= PP caster nylon wheels and castors

Ge

PTS
PTS
PTS
PTS
PTS

100
130
160
200
250

J_ (ol
42 1585

42
42
42
42

180
200
250
300

ki by

N
wn

S 383

Sapis 2 g0
150

200
300
400
S00

= PP caster nylon wheels and castors

PTF
PTF
PTF
PTF
PTF

100
130
160
200
250

42
42
42
42
42

J——

L, [ e
155 1S
180 2
200 2
250 2
300 2

300
400
S00

* PP caster nylon wheels and castors

PTB
PTB
P18
P18
P18

donyaiecharkh.com

100
130
160
200
250

42
42
42
42
42

s

155
180
200
250
300

+1YYYA.474

1

(7))

S 383

. | eI L

1S0
200
300
400
S00

. e
H

115:80 M85
11530 W17
130690 165x128
1324105 174:146
132x109 175150

LI 2
s e

e o,
[ ]

115:80 1484115
11580 14917
130430 166:128
132405 174x146
132:100 175150

115:80 148115
1680 14117
13040 165x128
132105 174x146
133100 175150

12
12

b S

i6

12
12
1
®
L

12
12
1
16
i6




= \With cast polyurethane treed

< I..f’;
POS
POS
POS

POS
POS

'
)
.
\.,

POF
POF
POF
POF
POF

%)

REIL

donyaiecharkh.com

100

130
160
200
250

100
130
160
200
250

100
130
160
200
250

100

42
42
42
42
42

42
42
42
42
42

42
42
42
42
42

a2

s>

)2

The world of wheels

155

200
250
300

185
180
200
250
300

155
180
200
250
300

150

A1TYYA.454

15
20
20
20
20

s With cast polyurethane treed

—
LJ

15
20
20
20
20

= With cast polyurethane treed

— ‘ r‘.
()]M*ﬁw&w % t s

15
20
20
20
20

15

180
220
320
450
550

180
220
320
450
550

180
220
320
450
550

600

[~

«

@

e

1580 1484115
11580 149117
130:90 65«128
132105 174x14%
132x100 173150

11580 HX117
130:90 165«128
132105 174x146
1324100 175150

1580 ¥8&115
11580 149117
130:290 65« 128
132105 174146
132100 175x150

15«80 148115

(o T I~

- S

-t
(=]

12



nCast iron wheels with elastic

> o O
< ! “»ﬁw—v ® (3B
anin

SLS 125 27 155 12 O 68400 1000130 10
SLS 160 35 200 20 100 D #3120 126180 12
SLS 200 35 250 20 150 (D 90x125 135x165 12
St 250 35 300 20 200 (D 100430150x180 16

nCast iron wheels with elastic

ot - .GE
- L
-

="
SF 15 27 155 12 80 (D 68100 100330 10

SLF 160 35 200 20 100 (D 90120 12580 12
SLF 200 35 250 20 150 (D 90x125 135165 12
SLF 250 35 300 20 200 () 100«130150x180 16

« Cast iron wheels and castors

Qe L I 4
-

SRS 68:100 1004130 10
SRS 160 35 200 20 100 o 90420 125160 12
SRS 200 35 250 20 150 (D 9025 135165 12
SRS 250 35 300 20 200 D 100:130 150x180 16

s Cast iron wheels and castors

v } T @ o Bt
, - A

125 27 155 80 () 65100 100430 10
SRF 160 35 200 20 100 D 90x120 125460 12

SRF 200 35 250 20 150 (D 912 135165 12
SRF 250 35 300 20 200 (D 100x130 150180 16

R1TYYA.454

donyaiecharkh.com




]

RS 0 20 90 10 80 114 S0 9080 8
RS 75 23 110 10 100 174 6060 2090 8
RS 100 25 140 12 120 8 80x80 110110 10
RS 12§ 27 160 12 150 8 80x80 110x110 10

RF 10 SOxS0 80x80

RF 75 23 110 10 100 114 6060 90R0 8
RF 100 25 140 12 120 8 @ 110%110 10
RF 125 27 180 12 150 8 80x80 110x110 10

14 S0xS0 B0x80
TS IE 23 110 10 80 124 8060 90x3X 8

14 SO0xSO B0x80
TF 75 23 110 10 80 11 800 90X 8

114
114

& BT 80 20 %0 10
: Br 7% 22 110 12

8 &
& &
8 8

donyaiecharkh.com 7742  +R1YYYQ.474



= Heavy duty wheels and castors with super-elastic solid

=o | Ol OB -
60

= -
PS 200 250 26 500 (D) 112432150170 14

PS 250 70 300 30 1000 D 11243260170 W

= Heavy duty wheels and castors with superelastic solid

el ~

PF 200 60 250 25 500 (O M2:43260170 W
FF 250 70 300 0 1000 €3 MR 150470 14

= Heavy duty wheels and castors with polyurethane treed

PUS 200 60 250 25 800 (D 112432150170 14
PUS 250 70 300 30 1250 (D 112132150470 14

= Heavy duty wheels and castors with polyurethane treed

l.‘—“'“ [ 3 ‘ ® .
‘ ‘.,./; ! cadd pA= ﬁ Qaples gy L? ({28 )
25 800

-
PUF 200 60 250 O 112132150470 14

PUF 280 70 300 30 1250 (D 112132150470 14

donyaiecharkh.com

705 «R1YYY8.454



ALT7S CH160

CH200 CH150

donyaiecharkh.com




donyaiecharkh.com ,; +41YYYH.47%



b bl e

» Caster whit pu mold on cast iron wheel

Go 1 agrElE

CPUB 138 82x70 114x98 11
cPUB 125 SO 160 320 82x70 14x88 1
CPUB 150 SO 185 430 82x70 11498 1
cCPUB 200 SO 230 480 82x70 114x88 1N

= Caster whit pu mold on cast iron wheel

e dffg BB

CPU 100 SO 138 270 82x70 14x88 11
CPU 125 S0 160 320 82x70 114x98 1N
CPU 150 SO 185 430 82x70 114x88 1
CPU 200 SO 230 480 82x70 14x98 1N

=Caster whit pu mold on cast iron wheel

g. Ty ELEE

CPUF SO 138 270 82x70 114x98 1
CPUF 125 S0 160 320 82x70 114x88 1N
CPUF 150 S0 18§ 430 82x70 114x98 1
CPUF 200 SO 230 480 82x70 114x88 1N

xScaffolding caster with pu mold on cast iron wheel

@ d&Emel

1451 150 SO 192 330 25 100
1151 200 S0 236 500 35 100

=Py wheel mold on cast iron hand truck
[i ® 1 © &
50 20 700

180X 50 180

200 x 50 200 50 20 800

donyaiecharkh.com 7745  +R1YYYA.454

"’ The world of wheels



b b e

=Pu wheel mold on cast iron hand truck

©woLoh

80 x 80 80 34, 20 700
30X 70 80 70 2 800
20 x80 80 80 20 ®00
80 x 90 80 %0 20 1000
0x100 80 100 20 1250

sAdjustable scaffolding caster with pu mold

A =
& @ @il ~- I O é?
16 330 M38 400

1176 150 50 192
176 200 50 236 16 360 M™M38 400

»Extra absorber caster with pu
= -
&

G @ I
MK 150 50 185 480 5«2 138408 12

MK 200 80 255 550 95«72 1384108 12

=Polyortans wheel

T et on

D 480 400 60 30 700

+1YYYA.474



donyaiecharkh.com ,; +41YYYH.47%



» Rubber caster with steel corb rolier bearing

G ® liﬁ@-

118 23

18 100 27 130
1B 125 34 155
18 160 40 195
18 200 46 235
1B 250 50 285

sRubber caster with steel corb roller bearing

-Qiu_

1S

1S 100 27 130
1S 125 34 155
1S 180 40 185
1S 200 46 235
1S 250 50 285

nRubber caster with steel corb roller bearing

C CL_

"F 23

MNF 100 27 130
MnF 125 34 156
nE 180 @ 185
ng 200 46 235
11F 250 S0 285

donyaiecharkh.com

60

100
130
150
180

40
80
100
130
150
180

60

100
130
150
180

54.41 70458
7360 102:x84
7360 102,84
106x80 131x104
105x80 131x104
10580 131x104

S4x41 70458
7360 102«84
7360 102x84
10580 131104
105x80 13104
105x80 131104

5441 70v58

7360 102:84
73460 10284
105:80 131x104
105:80 131xi04
108:80 131x104

L2 1YY D4454

12
12
12
12
12

12
12
12
12
12




ESX
ESX
ESX
ESX

k
EFX
EFX
EEX
EFX

100
125
160
200

i
100

125
160
200

eeX

EMX

EMX

donyaiecharkh.com

100
125
169
200

32
32

35

32
32
35

32
32
35
35

32
32
35
35

170
200
250

170
200
250

150
170
200
250

150
170
200
250

10
10
12
15

10
10
12
15

10
10
12
15

=Rubber caster with steel corb roller bearing

( - ! Ad N

100 75:60 80x105

150 7560 80«05 12
200 105x105140x140 12
250 105x105 140<140 12

=Rubber caster with steel corb roller bearing

o -

® 0 ¢ 0
(K 9

100 7560 80x105 12
150 75460 80x105 12
200 105<105 140140 12
250 105¢105 140x140 12

=mRubber caster with steel corb roller bearing

veld-mFHES

100 7560 80x105 12
160 75460 80x105 12
200 105x105140«140 12
250 105<105140x140 12

sRubber caster with steel corb roller bearing

e & e ¢
L g

10
10
12
15

100 7560 80x105 12
150 7560 80x105 12
200 105x105140«140 12
250 105105 140x140 12

+21YYY4.474




aHeavy duty wheels with elstic aluminium wheel centre

DS
DS
DS
DS

\

8 8 8 &

donyaiecharkh.com

125
160
200
280

100
125
160
200
280

B4

35
S0
50
85

35
35
S0
50
85

75 32
100 32
125 32

c7

57 L,5"

"’ The world of wheels

130
185
200
250
300

158
200
250
300

75 25
100 25
125 32

12
12
14
14
14

12
12
14
14
14

100
121
152

Q.'CL«»M-@

150
200
250
300

150
200
250
300

70
80
90

60
75
100

M1 O M
H L

70x70  92x92 12
70x70 9292 12
85x110 113x42 14
85x110 118x42 14
1256x125165x165 14

wHeavy duty wheels with elstic aluminium wheel centre

- i [

45x713 7™ 105

45x73 77x105 12
65x110 100x14S 14
65x110 100x145 14
150xt80 125x190 14

°:u;::_1.

74x45 93x64 85
74x45 93x64 85
74x45 93x64 85

I:o

+1YYYA.474




=Hard nylon rubber caster plain bearing

T @ =L

25 65 B0 S54x24 6848 6
2025 75 31 87 100 8460 80105 8
205 100 32 128 140 10376 127x101 10

=Hard nylon rubber caster plain bearing

— ® @
G & HBE
2025 5 25 65 80 54:24 6Rx48 6

2025 75 31 87 100 8460 80«05 8
2025 100 32 128 140 10376 127x101 10

- =Hard nylon rubber caster plain bearing

U @ @ﬁ_

65 B0 54x24 ©6:48
2005 75 31 97 100 8460 80105 8
205 100 32 128 140 103x76 127x101 10

donyaiecharkh.com ﬁ“’ +41YYYH.47%

The world of wheels



-4’&

~ e

donyaiecharkh.com

»Mid heavy duty caster anti static

u‘ Oy

40 111 100 74x45
INF 100 40 136 100 74x45
INF 125 40 163 100 74x45

sMid heavy duty caster anti static

IR

93x64 8
83x64 8
83x84 12

G @ N RE%

40 111 100 74x4S
NS 100 40 136 100 74x45
NS 125 40 163 100 74x45

=*Mid heavy duty caster anti static

2.9
]

GO G
7 40 11 100 74x45

NB 100 40 136 100 74x45
NB 125 40 163 100  74x45

2 eR1YYYA.458

—
93x64 8
93x64 8
93x84 12
By
—

g93x84 8
93x84 8
93x64 12




=Hard nylon rubber caster plain bearing

G ® | 31 (S

25 65 60 S4x24 6648 6
2025 75 31 97 100 8460 30«05 8
2025 100 32 128 140 103x76 127x101 10

*Hard nylon rubber caster plain bearing

G® iy EHE
205 50

-

25 65 60 54x24 6648 6
205 75 31 97 100 8460 80«05 8
2025 100 32 128 140 10346 127101 10

=Hard nylon rubber caster plain bearing

U. O—ﬁ

25 5424 66x48 6

2005 75 31 97 100 8460 80105 8
2025 100 32 128 140

103x76 127101 10

donyaiecharkh.com ﬁ“’ +41YYYH.47%

The world of wheels



=Mid lijht pr nt dark with double ballbeanng

€081 40 22 M2 25
6081 50 25 75 S0 M12 25
63 30 95 70 M12 Y]

8081

=Mid lijht pr nt dark with double ballbearing

5® dif gﬂuiﬂ

22 45x30 6043
60A 50 25 7S 50 5335 T70x51 8
80A 63 30 95 70 73x45 92x65 10

=Mid lijht pr nt dark with double ballbearing

G@ Ol L g

A2W 22 45x30 60x43 3
A2W 50 25 75 50 5335 701 8
A2W 63 30 95 70 73xd4S 92x65 10

+1YVYYH.79




T&"

40 M 150 80=x60 16182 8
40 136 190 8875 1M3x100 8
40 163 200 8&75 1M3k100 12
40 196 250 875 13100 12

ela 75 111 150 80x60 10132 8
e11a 100 136 190 88«75 113x100 8
g1A 125 40 163 200 88«75 113x100 12
gna 150 40 193 250 88x75 113x100 12

& 8

[z «R1YYY A48

donyaiecharkh.com




¢l dj sl 2>

75 21 S0
C8 100 27 132 80
125 27 1SS 80

75 23 102 40
100 23 130 50

donyaiecharkh.com 7722  «R1YYYQ.494



D3 35

3-1/2" 121

4° 140

5° 159

ES 4x2= 149
5x2" 169

6x2" 197

8x2° 247

E6 75 46

E7

G

27

94

114
131
125
141
169
219

102

50
63
75
S
96

15 120 46x35 60x48 63

6@ sumas
602  esaris
62 ssadis
102114 &7 'm7082
102114 o7 7xre 2
102x114  &-7ec7000
182114 s7.26x7¢A2

200 smas00 120x120

25 82
30 102
30 120
33 120
52 132

"
a2
La)
"

40 20 " 150

250
500
750
1000
1500

1

e 0 ® @
" e
[

45x4S5 S7TxS7 4x7
58x58 73x73 4x7
70x70 90x90 4x9
70x70 95x95 4x11
70x70 95x95 4x11
70x70 1002100 4x13

1 /22

The world of wheels

donyaiecharkh.com

A1TYYA.454



]

75 a6 105 400 80x80

110x85 92

40 20x2 66 55 62x52 70x70 85
S0 21x2 17 90 52x52 70x70 8BS

F2

donyaiecharkh.com 7Z +A1YVYYH.474



DBHLLS g 2lws gl 252

100 40 140 785
126 40 160 100

G6

100 50 142 85:73 115100 12
125 S0 16¢ 220 8573 1«00 12
150 S0 180 280 8573 115300 12
200 50 240 350 8673 115100 12

G2

[ LT ) A 108 T

The world of wheels

donyaiecharkh.com




233 16 110 105«80 131x104 12

8 200 45 235 16 110 10580 131104 12

CHP-304

CHP-305

donyaiecharkh.com 7722  +R1YYYQ.474



J2 98598 £lgil

40 12 175
GT 100 33 15 250

REILL 6 30
REILL 6 40
REILL 6 50
REILL 6 70

REILL 3 12-50
REILL 4 12.50
REILL S 1660
REILL 7 20100

donyaiecharkh.com



donyaiecharkh.com ,; +41YYYH.47%



donyaiecharkh.com 7722  +R1YYYQ.474



CHP-404 CHP-40s CHP-406

CHP-407 CHP-408 CHP-409 CHP-410

donyaiecharkh.com



donyaiecharkh.com ,; +41YYYH.47%



e sl (55 9 RKdgs v 252

G1 126 32 152 80

CHP-612 CHP-613 |

'Il-'--'---- L]

e
wi HHE
T A= ]

1]
L]

wassnEREERERRERE] 1,

v

CHP-401 . CHP-402 CHP403

donyaiecharkh.com 7722  +R1YYYQ.474



CHP-501 CHP-502 ¥ CHP-503

LT
HHT
i

L

—

wr = .'r.lj.‘:
53

T
|
—ere
)
A
| O

[ ] ol T &f 1
i e
et

il
— R

CHP-504 CHP-505 CHP-506

CHP-507 CHP-508 CHP-510 CHP-511

donyaiecharkh.com 7722  +R1YYYQ.474



6l Jid v 25>

CHP-601 CHP-602 CHP-603 CHP-604

CHP-605 CHP-606 CHP-607
x 0 X
X 0 X
CHP-608 CHP-609

79

CHP-610 CHP-611

+1YYY4.474

donyaiecharkh.com




donyaiecharkh.com ,; +41YYYH.47%



donyaiecharkh.com

BMedical casler for hospilal anti stalec pu tprabs. matenal

N e———
&5 Ed
174 65 M12 30

X1-B1 75 32
xi-81 100 32 132 70 Mi2 30
X1.-81 125 32 197 100 M1i2 30

BMedical casler for hospilal anti stalic pu. lpr abs . matena

X1-8
.8 100 32 132 70 M12 30
X1-8 125 32 197 100 Mi2 30

BMedical casler for hospilal anti stalc pu. tpr. abs . material
X1.02 97 65 27 30

xai-gz 100 32 132 70 27
X-02 125 32 157 100 27

8 3

L5 «R1YYYD458



B Med cal casler lor hospildl ant stal cpu.tpr abs . matenal

G e T 6 <

Bw 100 125 80 M12 25
swW 125 80 166 126 M12 25

&

B Med cal casler lor hospilal anti stal ¢ pu. tpr abs . materia

= e
om
60 M12 25

s2wW 75 56 102
B2wW 100 56 125 80 M12 25
B2W 125 80 158 125 M12 25

= Medical caster for hospital anti static pu. tpr abs . materal

@ dm HE

102 60 5442 7058 10
125 80 65462 9075 12
AW 125 80 155 125 66x52 90x75 12

sMedical caster for hospital anti static pu. tpr abs . material

G o g

A2W 75 64x42 70x658
125 80 6552 90x75 12
A2W 125 80 155 125 65x52 9075 12

s 3

AW 100

donyaiecharkh.com L” +A1YVYYH.474



liawjlow sl 2>

m ®Med cal casler for hospilal anti stal ¢ pu tpr abs . matena

23 70 M12 30

XiC 75 32 1
X1C 100 32 138 85 M12 30
Xic 125 32 166 105 M12 30

®Med cal casler for hospilal antt stalic pu tpr abs . matena

e
s NEIN:;
Xcee 75 32 123 70 M12 30

XCRB2 100 32 138 85 M12 30
Xce? 125 32 165 105 M12 30

®Med ca caster for hosp tal ant static pu. tpr abs. mater al

®NMedical caster for hosp tal ant static pu. tpr abs . mater al

75 32 LT 65 27 30

TT7-01

705 «R1YYY8.454



donyaiecharkh.com

¥ Nylon yoke caster wilh Ipr wheel center ballbearing for hospital

135 80 M12 20

3114 100 32
311 125 32 162 100 M12 20

® Ay on yoke caster w th 1pr whee center ballbearng for hosp la

cetadamg

33 100 32 135 80 M12 20
313 125 32 162 100 M12 20

¥ Nyion yoke caster with tpr wheel center ballbearing for hospital

G® dRSEE

49:80 6777 10
3091 125 32 162 100 4960 6%77 10

[ ]
3091 100 32

"Ny on yoke caster wth tpr wheel center ballbearing _Ior hosgital

3093 100 32 135 80 49460 6777 10
a3 125 32 162 100 4980 67477 10

A1TYYA.454




J,

SNy on yoke castier wih tpr whee senterbalbearng lor hosptal

3054 125 32 169 100 M2 %

l | WNy on yoke casier with tpr whee ceote r batbeanng lor hosp 1al

®
n &5hOo .
o 169 100 22 45

3156 125 32

BNy on yoke caster wth tpr whee center bal beating for ho<p tal

3157 125 32 169 100 12

"Ny on Yoke caster wilh lpr wheel cenler ballbear ng for hospilal

GO

3153 125 32 169 100 460 67x77 10

donyaiecharkh.com 774"  «Q1YYYA.124



donyaiecharkh.com

BTPR caster wilh pp core doubte biullbearing crremep ated

c@ e
180 M12 26

FA 100 32 135
FA 125 32 158 170 M12 26
FA 150 32 180 180  M1i2 26

®TPR caster w th pp core doubte biullbearing crremeplated

2° Jd5

=
FAB 100 32 136 150  M12 26

FAB 125 32 188 170  Mi2 26
FAB 150 32 180 180  Mi2 26

EGrey rubber castet with PP core
CORAHG &
3062 50 17 70 35 12 30
3062 75 21 101 56 12 30
30
30

3062 100 25 132 70 12
3062 125 25 158 75 12

B Grey rubber caster with PP core

A®

3064 50 17 70 35

3064 75 21 101 55 12
3064 100 25 132 70 12
3064 125 25 158 75 12

5883

[ LT ) A 108 T

The world of wheels




donyaiecharkh.com

®PU caster with PP core ballbearing

409 75 32 109 100 M12 30
4006 100 32 133 150 M12 30
4096 125 32 160 200 M12 30

uPU caster with PP core ballbearing

4097 75 32 109 M12 30
4097 100 32 133 M12 30
4097 125 32 160 M12 30

s TPR twin - wheel caster with PP core

1795 71 70 M12 32

2060 SO

«TPR twin - whee! caster with PP core

1795 71 70 M12 32

2061 S0

27 «81YYYA.494




oliwylony sl 25>

donyaiecharkh.com

a
™2 125 80 197 90

™ 125 32 157 90

aTPR twin - wheel caster PP core ballbear ng

98 150 10 30

2052 75 0

= TPR twin - wheel caster PP core ballbearing

2053 75 0 98 150 10 30

+21YYY4.474



vy - X
A1 100 32 1425 10
125 32 163 120

100 32 1425 110
125 32 169 120

donyaiecharkh.com 7722  +R1YYYQ.474



_CL R

70 74x4S 93x64 85
B4 100 32 133 80 74x45 93x64 85
126 32 158 90 74x45 93x64 85

75 40 125 102

B6 100 40 125 125
125 40 125 150

donyaiecharkh.com 7722  «R1YYYQ.494



: L J 9 0
". I ﬁ , ,
]

32 75 40 73x45 95x67 11x85
32 104 80 73x45 95x67 11x8S
32 132 120 73x45 95x67 11x8S
32 158 150 73x45 95x67 11x8S

125 32 165 105

CHP-301

donyaiecharkh.com 7% +A1YVYYH.474



100
125

T

ITg 100
125
]
——
i
75
T7-S 100
125

32 110 80 M12 0
32 1425 110  mi2 30
32 169 120 m12 30
NI Jeliel
- o
32 110 80 M12 30
32 1425 110 12
32 169 120 w12 30
=l
32 110 80 M12 30
32 1425 110 m2 30
32 169 120 M2 30

75
100

125

1T S8

K74 110 80

M1i2 30
32 1425 110 m12 20
32 169 120 Mm12 20

donyaiecharkh.com

+21YYY4.474



donyaiecharkh.com ,; +41YYYH.47%



L2 9 plale golio gl 2=

wBlack nylon twin - wheel caster

30

M8 15 46 M
TWTB 40 25 M10 15 ST 14
TWT8 50 30 M12 15 61 18

«Black nylon twin - wheel caster

Oom|
TWT
TWT
TWT

30 15 M8 15 46 M
40 25 M10 15 S 14
50 30 M12 15 61 18

sBlack nylon twin - wheel caster

[ICK | ZREY

P 30 15 30x30 2020 4 46 1
w40 25 38x38 26x26 5 54 14
™P 80 30 38x38 26x26 5 61 18

sBlack nylon twin - wheel caster

DeomEe ~a®

30x30 20)20 4 46 it
™eB 40 25 38x38 26x26 5 54 14
™TeB 50 30 38x38 26x%6 5 61 18

donyaiecharkh.com

725" «R1YYY+454



-
-

te

92 9 plalwe golio gl 2>

donyaiecharkh.com

=Black nylon twin - wheel caster

TWF 50 30 11 22 81 20

xBlack nylon twin - wheel caster

2123 50 25  42x42 28x28 5 52 Y.

»Black nylon twin - wheel caster

™PC 50 30  30x38 26x26 5 61 18

+1YYYA.474



W92 g plale plio gl 25>

=Rubber ball caster plain baering

= e 5

2106 40 0 MO0 15 52 16
2106 S0 40 M2 15 60 25

»Rubber ball caster ptain baering

8o

2110 40 30 M0 18 52 16
2110 50 40 M2 15 60 25

=Rubber ball caster plain baering
B e & 5

2106 40 30 38x38 27x27 5 52 16
2105 50 40 3I8x3IB 27x27 5 60 25

donyaiecharkh.com 7722  +R1YYYQ.474



92 9 plabe gilio gl 25>

dl gy 7 EE
(C...0] -
35 19 48 20 32x32 42x42 4

SO 20 63 30 32x32 42x42 4
75 23 97 40 45x45 60x60 6585
100 23 125 S0  45x4S 60x60 65x85

'@ dfg - CLE

35 19 48 20 32x32 42x42 4
50 20 63 0 32x32 42x42 4
75 23 97 40 45x45 60x60 6585
100 23 125 S0 45x45 60x60 65x85

75 25 100 70

donyaiecharkh.com 77%="  +R1YYYH.494



92 9 ylale ilio gl 252

G3 385 17 50 20 38x28 46x38

50 21 865 30 46x35 59x47
64 25 84 35 55x42 70x58
75 25 a3 45 55x42 70x58

CHP-101 CHP-102 CHP-103 CHP-104

QLee

CHP-201 CHP-202 CHP-203 CHP-204 CHP-205 CHP-206 CHP-207 CHP-208

donyaiecharkh.com 77%="  +R1YYYH.494



BASE

BASE OF INDUSTRIAL TABLES AND WORKSHQOPS
OF STEEL AND IRON

F

fidrip

il
m ':Hll'l
"ikl.l'ltl

i
i

. 1.{&.:-.&&'\.\. RRALULLLE LRV

il

g

A

r =

°

The world of wheels

the world moves because of us

W :
. — e




-
&
iz
==

cobe M

10
12
14
12
14
14
16
16
16
16
20
20
24
24
24
24

donyaiecharkh.com

L1

87

107
108
145
145
165
145
165
165
167
167
167
173
173
183
165

L2

60

80

80

100
100
120
100
120
120
120
120
120
100
100
120
100

STEEL
CODE

300053
300054

300055
300056

"’ The world of wheels

26
27
28
45
45
45
45
45
45
a7
47
47
53
53
53
45

17
19

18
22

24
24
24

8888

36

24

IRON
COoDE
108001
108000
107900
107901

TRRREE

134
165
134
134
134
16S
165

-_—

't 3
-
=

-
=TT
D A
40 60
40 50
40 40
40 50

1YYY.454

M E
2 26
10 26
8 26
g8 26




== cooErope M L1 L2 D me
~ ’}. o S 2 S

g 100 101 12 130 80 51 19 78

102 103 12 134 80 54 19 100

104 105 14 104 53 51 22 78

106 107 14 108 53 54 22 100

108 109 14 131 80 5 22 78

110 111 14 135 80 54 22 100

112 113 16 156 100 54 24 100

114 16 191 135 &4 24 100

115 116 20 194 135 64 24 100

STEEL IRON M R W, D -l @
CO0E
OF LUEE om, pm, .em mm
217001 217000 24 195 97 65 36 160

.. }’, 107001 107000 16 162 105 57 45 125
. : 107101 107100 6 187 130 57 47 125
107201 107200 20 185 120 60 47 125
107301 107300 20 162 105 60 53 125
107401 107400 24 185 130 65 53 125
107501 107580 24 160 9 65 53 125
107601 107600 24 225 130 65 36 160

donyaiecharkh.com ,; +A1YVYYH.474

The world of wheels



) The world of

- > -
B 2 DS . St
_':-r“.‘ e

Mt ViEs S

donyaiecharkh.com 7745 +31YYYA.4£4




donyaiecharkh.com ,; +41YYYH.47%



donyaiecharkh.com ,; +41YYYH.47%



Thread Stem @

01.METAL MDICAL BED CASTER

b

NO. O

§

with brake
% Meditact hiodet Waoe O:a 1ead SR Qo ng Throod Size
[Pl |l B om
%201-020-100-271 100(4') 120 135 85 197
PU) 8 M12X2S
PU or
% Sk 30
18201.02D-125.271 125(5") 135 162 100 121
1301-620-100-231 100(4') 120 135 85 147
. 8 M12X25
U or
% Srgesel 1630
W201-02D-125.231 125(5") 135 162 100 121
14-201.02D-100451 100(4') 110 135 85 117
8 Mi12X25
(TPR) 32 e 83 M1;(30
W201-02D 125451 125(5") 120 162 100 121
3 - ) e D
Grip l;u;g item @ N O . @ @: T&)j 8@8 Q
with Drake ihackdiatan, Mesol Waore Qia M‘a’g‘?d "“afﬁ"' Sl e s‘«ﬁm Genr ag srmwmm
1#-201.050-100-271 100(4’) 120 133 85 117
o
(PU) 32 SWSW 28 %40
Soatng
1201050125271 125(5") 135 160 100 121
WZ0195D-100231 100(4’) 120 133 85 117
o
(PU) 32 crogn  ©28X40
1%201-05D-125.231 125(5") 136 160 100 121
1%.201-050-100451 100(4') 110 133 85 117
(TPR) 32 S_EL ®28 %40
Baskiing
14201.050-125451 125(5") 120 160 100 121

donyaiecharkh.com




01.METAL MDICAL BED CASTER

. E £_ ? e 50 N 8
Thread Stem @ N O . 0 @ @ _l @ "Q“‘,\' O i
Materss Hose Wago!D 2 Wﬂm Longalght  Swhept e A Saaing  Tpmmae
1#-C01-02108-271  100(4") 120 135 85
8 M12X25
(PU) 32 Soweond 41630
MH-C01-02-125-271  125(5') 135 162 100
1M001-02100-23t  100(4") 120 135 85
8 M12X25
or
PU) 32 Segeli M18X30
1MC01- 0212523t 125(5') 135 162 100
18001-02-169-451 100(4") 110 135 85
8 M12X25
3 ¢
(TPR) 2 sogate yiava0
114001-02 125-451 125(5')} 120 162 100
" ¥ g _ e \ - °'j]
Grip.Ring Stem @ N O . @ @ @ @_I ) c_gﬁ

PVNnocs ia o1t Moec \Yreat Dl %ﬁ LeadMomgnt  SuvaiRad Beaang Grp Rn Stoms
W C91-05-100. 271 100(4") 120 133 85 0|
o
(PU) 32 mﬁ«? P28 %40
14 901-05-12% 271 125(5') 135 160 100
1RO 05-100-231  400(4') 120 133 85
(PU) 2 Shﬁw D28 X40
8oaty
14-601.05.125231 125(5") 135 160 100
1081-05-1800451  100(q') 110 133 85 o
(TPR) 32 wfw 28X40
Boang
1M£01.05-125-451 125(5') 120 160 100

donyaiecharkh.com



01.METAL MDICAL BED CASTER

Theead Stem @ NO. -E @ @ E

wit{y hra¥e

Mapibdos hlocet Wnoe Din ll.oa‘nn;}M Swivel Rag g*ﬁ‘l& €on: iig Th&&o
INC01-02D-100-271 100(4') 120 136 85 117
PU) l8 M12X2S
PU or
* e M16X30
WCNO2D-125-271 125(5") 135 162 100 121
1¥C91-620 108-231 400(4') 120 135 85 117
o |8 M12X25
or
%2 Sdlsl ka0
1%C01-020-125-231 125(5") 135 162 100 121
1-C01-02D 100-451 100(4') 110 135 85 117
TPR) |8 Mi2X25
% riog M16X30
WCO1-020-125.451 125(5°) 120 162 100 121

NO. O
v (RS

fGripRing Stem
weth braXe

1MC01-060100-271 100(4'} 120 133 85 117
(PU) 32 W ®28 %40
Baeanng
MOD1-05D125-271 125(5") 135 160 100 121
MO0105D-100281 100{4') 120 133 89 117
(PU) 32 w?L“ 28%40
Beanng
IMO01050-125231 125(5°) 135 160 100 121
1%C01-05D-108451 100{4' ) 110 133 85 117
(TPR) 32 W?L“ ®28X40
e
1%001-05D-125451 125(57) 120 160 100 121

don yaiecharkh.com



01.METAL MDICAL BED CASTER

Threcad Stem @ NO-

VYmoc Ma

P

(V)

ldoce

1i+-201-02-108-271

1H-201-08-120-271

1M 20102 100-231

1M201-02 126231

116-391.02-160-451

14-201-02125-451

I ..ﬁ_
\heo!Dla TPwead W
ol T I

100(4")

32
125(5')
100(4a°)

32
125(5')
100(4")

32
125(5’)

3

120

135

120
135

110

120

162

135

162

135

162

100

85

100

100

g

M12X28
o
M18X30

M12X28
of
M18X30

M12X28
o
M18X30

NO.

© 1

i
D

L)

b B

o

@3

-0 e
)
.l

Wookd> Moo WnegdBb Dweadndlf 0a0Co e toght  BwvinRod ”-9'0.' 8caring Grip Fing Stom
M 201-05-100-271  100(4") 120 133 85 [8|
(PU) 32 Siie Bab P28 %40
8uareg
IN-201-05-136-271  125(5") 135 160 100
1201-05-100-231  100(4") 120 133 85
Baang
1M.201-05-125231 125(5") 135 160 100
1M201.05-100451 400(4') 710 133 89 8|
0 Sinpe Bah 28 x40
Bearing
) 1120105125451 125(5') 120 160 100

donyaiecharkh.com

A1YYY8454




02.ANTI-CORROSION MEDICAL BED CASTER

. % ﬁ""'" s "'g;"“-
Grip Ring Ste @ N O . @ . @ @j‘ @ :. S j
with brake Mal Medo! \WhadlBls ,m%g % fE ‘%!Qp' d‘j 1%w M BntRecu Bosgng Gnnfr:{z‘\gs:m
J l‘ ¥-WP0205-100 271
' 100(4") 120 133 85 117
é -WP02-050-100-27
I PW) 32 segoos 23 X40
o IWP02:05-125 271
d 125(5" 135 160 100 121
- WP0205D-125-274
]n IMWP02-05-100-451
100(4") 110 133 85 117
‘_. ‘ IM-WP02050.100451
lH (TPR) 32 sa»g|§u 28 x40
Boning
IWP02.05425.451
125(5") 120 160 109 121
IWP02 050125451
m 14HP02.06-100-231
100(4") 120 133 gs 117
1LHPO2 050 108 231 8
| l. (PU) 32 Sngomey  D28X40
o 14HPO285-125-231 se
‘ 125(5") 135 160 100 121
. 1K HP0O2 050-125-231
18-HPO2 05100451
100(4") 110 133 85 117
&/ 1¥-HPJ2. 050 100651
l l'l (TPR) K4 Siogto a3 @28 %40
i Baoring
i \M-HPO2.05 125451
125(5') 120 160 100 121

18-HPO2. 050-125-451




b

SwivelTop Plate @ N O

w th Brake

o "W’ LRUIRCRvE

[o% o for

an Dta LmCAoaow Lopd RAEM SewoRodus Bunteaa® Boanng Pwa:m Pu cs zo 10020 220
o) §him) m 1) (L)
1¥-H03-01 100 451
100(4') 110 143 88 98
1M.H03-01D-100-451
1M-HO3-01-125451 oI A7k
(TPR) 125(5") 30 120 166 102 100 g g, (CV95466 g’ms (0B85
1M-HO03 010-125.451 Bearing
14-H03-01-150451
150(8") 1420 191 114 106
1%-HO03-010 150 451
184 C03-01-100451
100(4") 110 143 88 98
14-C03010 100 451
14-C03-01-125.451 8
(TPR) 1256 30 120 1% 102 100 o c@oses o7V (085
1M C03-01D-125451 Bcatp ’
1M-C03-01 150451
150(6") 140 Y| 114 106
14-C03-01D-150 451
3 ﬁ —] .- - N P N
Thread Stem NO. C j @ @_]= \ @
with brake
Yool s lbny ttodio Wh{gg“f)w moaéwmlh toodr?:fa.w mm?;gm Wﬁa«; Mm:tua Geanng Tnn::i.sm
1M-H03.02-100451
100(4') 110 143 88 08
1¥-HO3-82D-100-451
o)
IMHO302 125451 @] M12X25
125(5") 30 120 166 102 100 Noghe la b o
(TPR} 14.H08.02D-125451 I M16X30
1M-H03-02-150451
150(6") 140 191 114 106
14-H03-020-150-451
1M-C03-02-100451
1004') 110 143 88 %8
IMC03-02D-100 451
0
1M-C03.02 125451 @) Mi2X25
125(5") 30 120 168 102 100 Singta Bed or
Bed
(TPR) 1C03-02D-125-451 M16X30
14-C03-02 150-451
150(6") 140 191 114 106

18-C03.02D- 1504561

A1TYYA.454

donyaiecharkh.com




Grip Ring Stem
w th brake

03.MEDICAL BED CASTER
WITH PRECISION BEARING

1M-H03.05-100 451

100(4") 110 143 88 98
1M-HO3-05D-100451
1M-HO3 05-125-451 igl
(TPR) 125(5") 30 120 166 102 100 sogngu D220
18-H03.05D-125451 Beaning
18-HO3-05-150451
150(6") 140 191 114 106
1M-HO3-05D 150451
1M.C03.05.100451
100(4") 140 143 88 98
1N-COG 05D 100 451
18-C03.05-125451
125(5') 30 120 166 102 100 sogepu  D22XS0
18-C03.05D-125451 Bearing
1M-C03-05-150-451
150(6") 140 191 114 106
1M-C03-05D-150-451

1M-C03-01D-125-451

" don yaiecharkh.com

D meaas plastictotal lock

1M-HO3-05D-125-451

D means plastictotaliock



05.METAL MEDICAL BED CASTER
WITH 2 GRADES CENTRAL-LOCK.

[l pissd tarw
-_1.:;?‘-_1 FKOO Spm To M bfaitﬂ
[] .
o |
| TV Brmios Angis s 1-**r~ Tokad fesiy L’t“!
s 1—@_.5-1.‘; g \\

rya= T3] S -r*ifﬁjg j‘
1d _t-r 7 _
| r-ﬁ Sl & 5 -

i | B, 4 ". l ”'l
[ - 7 I: J—:'  Debve Faaik
*FAf rhond bt vF1E el brungia
1 (e g { 2
Thrabo ¢ A &8 am Ceitrai.lock nstolistien
~— AN\

B 05 series fork rotating syestem all adopt special-made ball bearing, super flexible
and mute. 2 grades control, free turning and total directional lock, Moving angle of
connection rodis 45 degree

I . - e ) n . 1
L , 6
Centrallock @ N O. @ @ @J @ @ @
o eb Viboe!Da  Thrw Cepaay l.oadHoloM Srwol Rovun 803 ng b ) %mamw
= 11 05057 1100-¢51 100(3') 10 . 0
g 32 Shogatad
, Bosring
TPR 1WH050F1-125-45t 125(5") 120 1M 103 28 56
® o
14 ¢P5-0F 1150-452 150(6') » 140 197 117 { l%,
Bearing
l WIRSOF3-100-451 100(4") 110 146 88
1 2 B,
y ) TPR  i9w05-0573-125-451 125(5") 120 171 103 seo 32 50
" BHS-OE3-10-652 150(6™) 25 140 197 17 3 %
[)
184905 057 1100451 100(4') 110 146 88 l8
) - sogcas
TPR  1K8005-0F1-125-451 125 (5") 120 17 103 : 28 26
b o |8
184905 0¥ 1150-452 150(6") % 140 197 117 w
Bearing
1 PS5 3100651 100(4’) 140 146 a8 l8
o 32 )
) TPR 'S OFNL 425(5") 120 171 103 B 32 50
11005 150492 150(6") 35 140 197 n7 mgm“%:

~ donyaiecharkh.com



Centrallogk @
YRodst ot

NO.

05.METAL MEDICAL BED CASTER
WITH 2 GRADES CENTRAL-LOCK.

WH A INed Y &bd.l‘ml Lo M 5] o

Li e 100-451  100(4°} 110 146 83
3 , 3
% Singie Ba
TPR @1 156 125(5") 120 171 102 2% 96
1HD-F 1150652 150{6') '8
35 140 197 117 Do s
Boaring
womw0E-100-451 100(4°) 110 146 88
32 Singse Bas
TPR  1haso61125.251 425(5") 120 171 102 23 96
W CF1- 156468 150(6') 3% 140 197 17 H -
Boa™'g
® nNO. O L@
Gentral tock N . 9% @ @
M Mogeh WheidOw Trresawidn Rood  LoooMidh jwneiRey  Beaty  gadian MW
i s 21004 100(47) 110 146 83 |8
] 32 Lingie B
TPR  iWSoT31254  125(57) 120 171 103 32 50
HRETFH02  450(6") 35 140 197 1w JOIOL
Baaring
os-0sFa-io-as1 100(4)) 110 146 33
2 18
Sngio Bad
Boaring
TPR THC0E-(EF3-125-451 125{5"} 120 171 103 32 S10)
B P04? 450(68 35 140 197 17 E8”8|

Deuble 62D
ezl

" don yaiecharkh.com



Swive TepPlate

WWP21-01-125 272

Q
. |8! O! (A)70x55
PU 125(5") 65 125 155 104 124 S5 5L €905 oo, (D185

WWP21.010-125-272

INHP2101-125-312

PU 125(5') 65 125 155 104 124 18} Croors A0S ya o
rsebont > (B)80x50

MMP21010-125-312

[ gt =1 ] |~ ]
@ 9
Thread:Stem @ NO @ @ '?
Woee) videid Modv Wiscl0 » Lood Howd:  SVAIRIUS ASA Revang Ypmin
ﬂl 1WP21.02-125-272
PU 125(5") ¢ 125 148 104 124 W%QB., M16X25
W 1WP21.020-125-272
194HP21-02 125-312
PU 125(5") 65 125 146 104 124 0§!..,[§, M18X25
Bty

W-HP21-020 125-312

" don yaiecharkh.com



22.ALL-PLASTIC LUXURY MEDICAL
BED TWIN WHEEL CASTER

125(5") 68 125 158 109 129 Joslo%o{cmx?s (A)70x55 (18 g
Soating

IM-WPZ22-01-125-272

(8}80xS0

TM-WP22-01D-125-272

1M-HP22-01-125-312

813 (ry70455
125(5") 68 125 158 109 128 Sl am(C00as ) (0)8.5

5
Cowi (8)e0x20
1M HP22.010.125 312
T - . r———n - L.
Threa¢ Stem @ N O . ‘@ [E i .' ’ @
W Woodw Modat WhestD.s W BN SwtAHRMY 7:@ gorig  Themsto
M 1M WP22.02 126 272
PU 125(5') 68 125 149 109 124 oo%.”%. MiBX2S
1M WP22.02p42%.272
IM HP22 02 125312
PU 125(5') 68 125 149 109 124 ONSA!.@» M18X25

1M MP22 020.125 312




- Brake

© NO.

~Separale

M16 Theead stem

By

Thread stem o
VoA Aoy Mode W«g’g{‘?m W&’“ $n IR ”‘?mq 8o 1W
INMWP2302 125272 o
125(") 79 140 155 102.5 137 JO.O  M18X30
Basring
1IWWPZ2920-125-272
IMRP23.02 125312
31
Beaby
1M HP230D 125312
-——t 5 _ “-_
(7 " ’ . ‘ :. ~ C’ OO '
o @ NO. & & il
"Unactidewnd Modal whea! Oin - Watr \ose e m%@. ms;f:!wn Bezring Wr?;;m
11 IMMNP2206-125072 la .
o
125(6") 79 140 152 102.5 §37  Oomesm P28%40
Basring
1MWPZ2H50-125.272
IHPIOG125912
0
125(5") 79 140 152 102.5 137 O o28x40
Be vy
IMEPZILED 129812

donyaiecharkh.com

[t

+21YYYH.474




by £ co f
© NO. g O o &8 ®
Gentral lock : @ @ F @ 0% ()
Whaer Mowenot tHode ww . 'W i %ﬂ ) Bospop  Omoarm  Compuaninn
IMNP5-05F1-125-272 5"(125) 83 150 144 103
¢ 28 96
1M w25 esF11 50272 6' (150) 83 165 175 125
PU Ooulie ¢!
Goong
18 M WP25 0563 125 272 5 {125) 83 150 144 103
¥ “-! $32 50
M W2 0573150 272 67(150) 83 165 175 125
| 28 96
| tM925 035 1150312 ©(150) 83 165 175 125
PU Oaudie B
Boanp
e INHO2S-05F3 125312 S' (125) 83 150 144 103
$32 50
IMIP2505F3 150 312 64(150) 83 165 175 125
| »
M GP25 05F1-125-392  57(125) 83 150 144 103
I
28 86
1M.0P25-05¢1-190-392  6"(150) 83 165 175 125
Oouie &K
Boanp
: 1040025-0583-126-302  5"(125) 83 150 144 103
' $32 50
1M 9250553130592 67(150) &3 165 175 125

A1YYY8.454

donyaiecharkh.com




52.LUXURY MEDICAL
EQUIPMENT TWIN WHEEL CASTER

NO.

SwivelTop Plate @

Wtad Pova Meda Wh&ﬂu : m Z‘b Gaa g s,!z .. 3\». Q ple 3lze
M WP52.01-50.273 a7
" A 29
50 (2") 25 73 - {C)s2x42 Eaﬁg’;@s
1M WP52.01D.50-273
47 (0)6.5
— 1M WPS2 09 63273 56 A
= 63 (2}) a0 86 (C163x50 (g)iex3®
N 1M.WP52 010.63.273 71
PU o
N TM-WPS2.01.75.273 64 {A)omuds
75(3') 59 60 103 (C176461 15)ooma0
1M WP52.010 75 273 80
(0)8.5
M WP52 01.100 273 @) 88 (A)70x55
100(4") 58 80 129 {C)90:7s *
1M WPS2 01D-100 273 106 8)0,50
1M HPS52-01-50 313 a7
S0 (2 25 73 - (Crsaxaz G728
1M HP52-01D50-313 3
47 (0)6.5
1M HPS2 01:63 313 56
63 (2}) a0 86 - (C)axs0 {ghBese
AM-HPS2-01D-63.313 1
py o
1M-HPS2 01 75 313 o4
75{3') 59 60 103 C)76x61 EQ,’ZS,’(‘;“?
1M HP52-01D 75 313 80
(0)85
$M HPS2 01-100 313 . 83 (AY70x55

WM-HPS2.010.100-313

rsen @ NO. T f) @ §

W) (zaden Mode! ww;o mm' wamu w»«m; io&)vd Bcanng Tngt ¢
INWPS2.02 50273 "
50 (2') 25 65 g M10X20
IMWPS202060-273 63
ill A7
. W WPS2-9283-273 56
63 (23) 40 78 M10X25
IM-WPR20TDE5273 71
PU =1z 1
MSWPS202.75-273 . 64 Gesmn
75(3") 5 &0 94
IM WPS242D-25-273 80
M12X25
1MWPS202 100273 88
140(3") 58 80 121
WM WPS2020 190-273 106
50-3 -
MHPSZ238913 60 (29 25 65 ar M10X20
W4 1PS202050:313 &3
47
1M-HPS2.02-83-913 56
63 (23) a0 79 M10X25
IMHPS2020-98-3 B n
PU F
IM4PS2-02 75 313 84 Oodn
75 (3') 5 60 94
WHPS2.02D.75013 80
M12X25
1M.HP52 02 100313
100(8") 58 80 121 g8
M HPS202D-100-313 106

~ donyaiecharkh.com



o

"Stap on® brake system humznzed
and easy {o use

"‘.F.1

seen @ NO. B & &

o) i

Vi (el Madal w% D M\, mn.r’:uew s«n%\..om MEM féar o3 ?mﬁ??xo
! IMVPI-(R.75-272
75(3') 56 70 88 65.5 84 |8§
PU " e odou M12X25
MWVSI@. 108-272
‘ 1 100(4") 69 90 125 85 119
IMNWVPR-(ED-100-272
: Shadc 75(3") 56 70 9% $5.5 84 S
py MER0DITE mgets  MI2X25
WHPS3-020-100312
Mig
lg]
14V

M12 Thread stem




(2)2

The world of wheels

donyaiecharkh.com 7745  +R1YYYA.454



donyaiecharkh.com ,; +41YYYH.47%



donyaiecharkh.com ,; +41YYYH.47%



JOSS-01A 450.112

{(PP)

Joseries

J03S-01-63-112

J038-01D.63-112

J03S-01C-63-112  63(28)

JO3S01A.63 112

J03S-04 63112

J0350175:112

J03S-010-75 112

J03S-01C-75-112 75(3)

J03S-01A-75-112

J035.0475-112

J035-0100412

J035-010-100112

J03S-01G100-112 100(4%)

J03S-01A-100- 112

J035-04-100-112

J035-01.125-112

J03501D-126 112

J03S-01A-125 112

J035-04-125-112

80 95

30~200KG

675 112

122 106

32

745 117

140 130

3Rl

121 oo@leser (C)O5x6r

155 155

1015 126

J035-01-150-112

J035.01D-150-112

J03S-01C-150+112 150(6)

J035-01A1 50412

J03S-04-150 112

35 180 186

120 145

QITYYA.454

(A)78x45
{B)71x45

()33

(C)101x82

(A)80x€0
{8)73x53

donyaiecharkh.com ,;

The world of wheels

(om



JO3SD1A-150-662

(PA)

J03S-01-63-662

J035.01D-63-662

J03S-01C.63.662

63(23)

J03S-01A-63662

J03S04-63 662

J03S-01.75 862

J03S-01D-75-662

J03S-01C-75-662

75(3")

JO3S 01A-75-662

J03S5-04-75-662

J035-01.100-662

J035-01D-100-662

J035-01C-100-662

100(4™)

J035-01A-100-662

J035-04-100.662

J03S 01-125-662

J03S-01D-125.662

J03s-01C-125662

125(57)

JO3S-01A-125-662

JO3S-04-125-662

32

92 95

30~200KG

67.5 112

125 106

745 117

140 130

88 121 Oowosa (C)E5x67

155 kS

101.5 126

J03S-01-150-662

J03S.01D-150.662

J03S-01C-150.662

150(6")

J03S-01A_150-662

J035-04-150-662

35

donyaiecharkh.com

200 186

The world of wheels

120 145

«1YYYH.474

(A)78x45
(8)71x45

)85

(C101:32

(A18OX60
(B)73x53

(0)1



Sseries 30~200KG

J03S-01-40-361

J035-010-40-361 40(13) 22 32 61 40 72 (8045 (pheons0  (O1B5

J03S-0440-361

J03S-01-50-361

J03S-01D-50-361 50(29 25 40 74 48 80
J03S-04-50-361 (C)70x S5

(C)70x51

{A)S&x35
(B)49x35

J03S-01-57-361

JO35-01D-57-361  57(24) 26 60 80 51 80 (C)70x51

J03S-04-57-361 (C)70x55

J03S-01-63-361

J03S-01D -6 3361

J035.01C.63-361  63(24) 72 D3g0 675 T8
J03S-01A.63-361

J03S-04-63-361

{PU)
J035-01-75-361

J03S-01D-75-361

(A)T8x45
J035-01C-75-361  75(3") 100 106 745 117 Spets CFNT girines OB

J03S-01A75-361

J03S-04-75-361
32

J03S-0+100-361

J03S-01D-100-361

J035-01C-100-361 100(4") 130 130 8 121
J03S-01A-100-361

J03S5-04100-361

J03S-01-125-361

J03S-01D125-361
J035-01C-125-361 125(5°) 142 155 1015 126

J03S-01A-125-361

J035-04-125-361

donyaiecharkh.com

[z «R1YYY A48




()iSseries 30~200KG

J03S-01-40-311

JORSQIDH0STI L 40)) 1220 32 61| 40 72 Crooxas B0 oies
J035-0440:311

J03S-01-50-311

J03501D-60311 5029 25 40 74 48 80

J03S 04-50-311
Er et {A)55x35

{8)49x35

(C)70x51

J03S-01-57-311

(C)70x51
26 60 80 51 80 Ly

JO3S-0457-311 (C)70x55

J035-01D-57-311  57(2)

J03S-01-63-311

J03S 01D 63-311

J03501C 63311 63(2h) 72 95 675 112
JO3S-01A-63-311

JO3S04-63-311

(PU}
J035-01-75-311

J03S-01D-75-311

. {A78x45
J035-01C-75:311  75(3") 100 106 745 117 Syete O9S®7 Goyiys ©O8S

J03S-01A75-311

J035-04-75-311
32

J03S<01-100-311

J03S-01D-100-311

J03S-01C-100-311 100(4") 130 130 8 121
J03S-01A-100-311

JO3S 04-100-311

J03S-01-125-311

JO3S-01D-125-311

J03S01C-126-311 125(5°) 142 155 1015 126
J03S-01A-125-311

JO3S-02-125-311

donyaiecharkh.com ;; +]1YYYH7%

The world of wheels



JO3S-01A-150-452

)3Sseries

J035-01-40411

J035-010-40.411

J035-0440-411

40(1¢)

30~200KG

30 61

40 72

J035-01-50-411

J03501D-50-411

J03S 0450 411

50(2°)

25

40 74

48 80

J03S-01-57-411

J03S-01D-57-411

J035-04-57-411

57(21)

26

50 80

Y| 80

J03s 0163 411

J035-010-63411

J035-01G-63411

JO3S-01A 63 411

J035-04-63411

63(2)

J035-01-75-411

J035-01D-75411

J035-01C-75411

JO3SOV1A-75411

J038-04-75411

75(3)

J035-01-100-411

J035-01D-100-411

J035-01C-100-411

JO3S01A-100411

J03S-04-100-411

100(4")

J035-01-125411

JO03S 01D-125411

J035-01C-125<4 11

J03S-01A-125-411

J03S-04125411

125(5")

32

65 95

675 112

83 106

745 17

112 130

88 121

125 155

1015 126

(A)48x30
(C)80x45 (BY200

(C)70x51

(C)70x55
{A)55%35
(R)49x35

(C)70x51

(C)70x55

{A)78x45
Sooo bt (SEEREE (£)71x45

(083

J03501-150-452

J035-01D-150452

J03501C-150452

JO3S 01A-150452

J03S-04-150452

150(6") 35 145

186

120 145

B |8 {A)BOxGO

mm?’ (10152 {8)73%x53

donyaiecharkh.com ,;

The world of wheels

(o)3R



(iS5 series 30~200KG

2035-01-63-662

Z2035-01D-63-662

203S01C-63662 63(z}) 92 95 675 112

203S-01A-63-662

203504 £3-662

2035-01-75662

203S-01D-75662

2035-01C-75662  75(3") 125 106 745 117

Z203S-01A-75.662

203S04-75-662
32

2035-01-100-662

203S-01D-100-662

Z2035-01C-100-662 100(4”) 140 130 88 121 Oudklu (CFe%7 (@r1nas (OB5

Z203S-01A-100-662

203S5-04-100-662

2035-01125-662

203S-01D125662

2035-01C-125662 125(5) 155 155 1015 126

Z203S-01A-125-882

2035-04-125662

2035-01-150-662

203S-01D-150-662

2033-01C-150-662 150(6") 35 200 186 120 145 (10182 Eg;gggg o1

203S-01A150-662
7035.010-150.662

2035-04-150-662

donyaiecharkh.com ;; +]1YYYH7%

The world of wheels



(PU)

iSseries

J03S-03-63-223

J03S-03D-63-223

J03S-03C.63-223

J03S-03A.63-223

63(21)

J03S-03-75-223

J03S-03D75-223

J03S-03C-75-223

JO3S-03A765-223

75(3")

J03S03-100223

J03S-03D-100-223

J03S-03G100-223

J03S-03A-100-223

100(4°)

J03S-03-125-223

J03S-03D125-223

J03S-03C-125-223

J03S-03A125-223

125(57)

32

73

30~200KG

856.5

67.5

112

105

106.5

74.5

117

130

130.5

88

29

142

155.5

101.5

126

®12
or

®13

(SR)

J03S-03-63-713

J03S-03D-63-713

J035-03C-63-713

JO3S03A-63-713

63(23)

(HR)

J03503-75-733

J035-03D-75-733

J03S-03C-75-733

J035-03A-75-733

75(3°%)

J03S-03-100-733

J035-03D-100-733

J035-03C-100-733

J03S-03A-100-733

100(4")

J035-03-125-733

J03S-03D-125-733

J03S-03C-125.733

J03S-03A-125-733

125(57)

32

65

93.9

67.5

112

84

106.5

74.5

117

102

130.5

88

W

115

185.5

101.5

126

D12
or
®13

donyaiecharkh.com

«1YYYH.474




(PU)

Uioseries

J03S-02-40-351

J03S-02D-40-351

40(1%)

22

32

30~200KG

61

40

72 M8X20

J03S-02-50-351

J03S-02D-50-351

50(2")

25

40

74

48

80

M10X25

J03S-02-57-351

J03S-02D-57-351

57(24)

26

60

31

80

J035-02-63-361

J03S-02D-63-351

J03S-02C-63-351

J03S-02A-63-351

63(23)

J03S-02-75-351

J03S-02D-75-331

J03S-02C-75-351

J03S-02A-75-351

75(3")

J03S.02-100-351

J035-62D-100-351

J03S-02C-100-351

J03S-02A-100-351

100(4")

J035-02-125 351

J03S-02D-125-351

J03s-02C-125-351

J03S-02A-125-351

125(5")

32

72

96.5

67.5

112

100

106.5

74.5

@l

snpeeen  M12X25
Soamng

117

130

130.5

121

142

donyaiecharkh.com ,;

158

101.5

«1YYYH.474

126



(ER)

o Sseries

J08S-02-50-521

502 25 40
J035-02D-50-521

30~200KG

74

48

80

M10X25

J03S-02-57521

57(23) 26 50
J03S-02D-57-521

80

51

80

J03S-02.63-521

J03S-02063-521

63(23) 65
JO03S-02C-63-521

JO3S-02A-63-521

96.5

67.5

112

J03S-02-75-521

J03S-020-75-521

75(3) 83
J03S-02C-75-521

JO3S-02A-75-521

32

106.5

745

17
smjglw M12X25

Boaring

J03S.02100-521

J03S-020-100-521

100(4") 112

J03S-02C-100-521

J03S-02A-100-521

130.5

88

121

J035-02-125-521

J03S-020-125-521

125(5) 125
J03S-02C-125-521

JO3S-02A-125-521

1865.5

101.5

+1YYYA.474

donyaiecharkh.com 77 %.

126




[ Sseries 175~500KG

T - T - e -
& o B 5= 2 -
. o T W L . =
i o

i -,

L} §

. !
s il ey W e A e e L
|L.oad AL Savredl Fradt - S

J07S-01-125-362

JO7S-01D-125 362

125(5") 330 164 104 149
J07S-01C-125-362

JO7S-04-1235-362

JO7S-01-150362

J07S-01D-150-362 |
1506y 45 360 190 121 150 oo.moeeu(cmsmw?ggg:;? (0)11

(PU) Jo7s-01C-150-362

J07S-04.150-362

J07S-01-200-362

J07S-010-200-362

200(8") 430 240 158 172
J07S-01C-200 362
J07S-04-200-362
J07S-04125-352
J075.01D-125-352
125(5") 330 164 104 149

JO7S-01C-125-352

J07S-04-125-352

J07S-01-150-352

J07S-01D-150-352

150(6") 45 360 190 121 150 ownesw ©fisxie0 (X7 O
(PU) Jo7s-01C-150-352 i

JO7S-04-150-352

JO7S-01-200-352

JO7S-01D-200-352
200(8") 430 240 158 172

J07S-01C-200-352

JO7S-04-200-352

725" +R1TYYA.454

donyaiecharkh.com




)/ Sseries

J07S-01-100-262

J075-01D-100-262

100(4%) 235 143 87 139
JO7S-01C-100-262

J07S-04-100-262

J07S.01-125-262

J07S-01D-125-262

125(5") 290 164 104 149
JO7S5.01C-125 262

J07S-04-125-262

45 Oeumio 63 (C)115k100 (AN 6XT6

(o
J075-01-150-262 Seohng (8)92x87

J07S-01D-150-262

150(6") 350 190 121 150
J075-01C-150-262

J075-04-150-262

J07S-01-200-262

J07S-01D-200-262

200(8") 380 240 158 172
JO7S-01C-200-262

J075-04-200-262
J07S-01-100-252

J07S-01D-100-252

100(4) 235 143 87 139
J075-01C-100-252

J075-04-100-252

J07S-01-125-252

J07S-01D-125-252

125(5%) 295 164 104 149
JO7S-01C-125-252

JO7504-125-252 |a |8|

L Oowio a8 (C)115x100 (A76X76 ey
J07S-01-150-252 2 o @267 O

(PU})

J07S-01D-150-252

150(6") 350 190 121 150
J07S-01C-150-252

JO75-04-150-252

J07S-01-200-252

J07S-01D-200-252
200(8") 370 240 158 172

J07S-01C-200252

J07S-04-200-252

donyaiecharkh.com ,; +AYYYHR7]

The world of wheels



| SS9 series 350~2000KG

J35-01-125-282

119
J3501D-125-282 125(5") S0 700 175
J35-04-125.282 A110x84
(C)tdQ<110 (B)110x5%
J35-01-150282
134
J35.01D-150-282 150(6") 52 850 200
J35-04-150-282 5
l8“0| {on3
J35.01200-282 i iy
(PU) 165 e
J3501D:200282 200(8") 55 1000 251 Crisex12s
(B)125x81
J35-04:200-282
J35-01-250-282 193
250(10") 65 1500 307 ‘c,xawo‘:’z:‘;:”
J35.04.250-282 i
J35-01-300-282 226 s
300(12) 75 2000 355 (G200 160 8’65“ ¢
J35.04-300-282 S
J35.01-125-362
J35-01D-125-362 125(5") 50 A 149
J35.04-125-362
e
(
J35-01-150:362
Sl
J35.01D-150:362 150(6') 52 850 134 oo ©13
J35.04-150-362
J35.01-200362
J35-01D-200-362 200(8") 355 1000 165 (Chissx12s W12
(8112581

J35-04-200-362

donyaiecharkh.com ,; +AYYYHR7]

The world of wheels



)/ Sseries

] e |

e Ty,

‘H L

w il Y

o Y slecs R g
Ao ] i

i m
| Ehy =
s

207S-0+100-122

2 207S-010-100122

100(4’) 280 143 87 139
2075-01C-100-122

-

207S-01-125-122

207S5-:010-125122
. 125(5) 340 164 104 149
207S-01C-125-122
207S-04-125-122 l8| ]8 op (A)76x76

(PP) 2073.01-150-122 32 Rl (CHORR ez ~EI

2 '3 2075-04-100-122

=
3

207S-010150-122

150(6’) 400 190 121 150
207S.01C-150-122

207S5-04150-122

207S.01-200-122

2075-010-200-122
200(8") 440 240 158 172

207S01C-200-122

2075-04-200-122

2075-01-100-222

207S-01D-100-222

100(4") 265 143 87 139
207S-01C-100222

207S-04-100-222

207S01-125-222

2073-01D125 222

125(5") 325 164 104 149
2073-01C-125 222

2075-04-125-222 8]
45 Oouois 80 (CY115%100 ((g;gg? (M1

(PU) Z2078-01-150-222

Z2073-01D-150-222

150(6") 380 190 129 150
207S-01C-150-222

2073-04-150-222

2075-01-200-222

2073-01D-200-222

200(8") 405 240 158 172

207S-01C-200-222

207504-200-222

donyaiecharkh.com ,; +]1YYYHR7%

<13
/4
‘( The world of wheels



\Eseries 10~90KG

C08.-0225 411 1 0 o 28 o
25(1
C08-02E-25-411 ( ') M6X15
C08-02-32-421 12 §£ {i6)
S M8X20
32(1}) 15 44 31 53
C08-02E-32-421
C0802-38-421
" 38(14) 16 20 52 38 59 M8X20
4 C08-02E-38421
S08-02-50.421
= 5 50(2) 25 L 52 84 o
08 -020-50 421 20 ol M10X20
{TPR) S08.02-63 421 foorng
63(23) 35 90 59 88
S08-020-63-421
S08-02-75-421
75(3) 42 104 69 a9
S08-02075-421
S08-02-100-421 .
10043 25 50 129 85 109 M12X25

S08-02D-100421

S08-02-1256-421

125(5") 60 159 105 120
S08-02D-125 421
Z08-02-25-144 i > x =
25(1"
Z08-02E-25-144 ) M6X15
12 or
32
208-02E-32-144 (13 20 44 31 53
Z08-02-38-144
38(13) 16 25 52 38 59 M8X20
208-02£-38-144
208-02-50-143
208-020-50-143 >0(2) 35 A 52 %4 O0)
208-02-63-143 20 gl
YUPA Vé-
il 63(23) 40 9% 59 88
208-020-63-143
208-02-75-143
75(3" 72 104 69 99

208-02D-75-143

208-02-100-143

100(4°
S 0 e 81 128 85 109 M12X25

208-02-125-143

125(5") 90 155 105 120
208-020-125-143

donyaiecharkh.com 77/ «A1YYYH.4574



J3series

10~90KG

S08-05.50.231
Jf 50(2" 30 b
} S08-05D-50-231
B S08-05-83-231 20
1 63(28) 42 90 59 88
- S08-05D-63-231
S08.05-75-231 8l
75(3") 60 104 69 99 &m‘o@ 011X38
”- S08-05D-75-231 25
-4l
=3 S08-05-100-231 cnclih
00(4'
@ S08-050-100-231 65 129 85 109
S08-05.125-231
125(5%) 72 155 105 120 015.8X55
S08-05D-125.231
S08-05-50421
50(2") 25 77 52 84
S08-05D-50-421
S08-05-83421 20
63(23) 35 9 59 88
S08-050-63-421
S08-05-75-421 8
75(3") 42 104 6 NGB “n-sx BEHASE
S08-050-75-421 25
S08-05-100421 +odth
00(4'
S08-050-100-421 50 129 85 109
S08-05-125-421
125(5Y) 60 155 105 120 015.8X55
S08-05D-125-421
S08-05-50-291
50(2") 30 77 52 84
S08-050-50-291
S08-05-63-291 20
63(23) 42 90 59 88
S08-05D-63-291
S08-05.75-291 , |8|
H- 75(3") 60 104 89 99 smu ®11X38
| {(PU) S08-05D-75-291 25
3 508-05-100-291 —_—
00(4'
S08-05D-100-291 65 129 85 109
S08-05-125-291
125(5) 72 SESIN 405¢ SN0 015.8X55
S08-05D-125.291

donyaiecharkh.com

«1YYYH.474




80~350KG

{PV)

J08C01125-282

J09C-01B-125-282 125(57)

JOOC-04-126-282

J08C-0 +150-282

JOSC01B-150-282  150(8")

J0SC04-150-282

J0sC-01-200-282

JOosC-018-200-282 200(8")

JOSC-04-200-282

80~290 167~190 107~110 168~171

80~320 183~208 127-130 185~188 om@iu (C1BSA1S {Q{}g“;g On3
Seaing

80~350 232~260 177~181228~231

(ER)

J08C01-125-522

JOSCO1B-1256522 125(5")

J0SC04-125.522

JO3C01-150 $22

J03C-01B-150-522 150(8°)

J03C-04-150-522

J09C1-200-522

JO9C.01B-200522 200(8°)

J03C-04-200-522

80~220 187~180 107~110 168~171

I3

{A}135:85
80~280 183~208 127~130 185188 000 QN Lioler B

80~310 232~260 177~181 228231

donyaiecharkh.com

+1YYYA.474



| Useries 2000~4000KG

B Wheel and material introduction B Horn introduction :

= -

. Code No:10-4615 whee| struciure

Ultra heavy duty PA Wheel
size:150/200/250/300 (mm)

® D:6” 15mm 8”-12” 19mm @ coniform bearing
B:6” 10mm 8” 12mm
10"-12” 15mm

J1001150615 119
150(87) 2000 217 CHOX125 (A)12590 (D15
J1004-150€15
70
J1001-200615 152
200(8") 2500 275 (CHTSXA35 (A)140x100  (D)15
J10-04.200 615 BDS
(PA) 41001250615 457 DR
250({10%) 3000 330 (CR00C180 (ANBi20 (D)7
J10-04.250615
85
aF J1001-300615 215
. 300{127) 4000 380 CR10K170 (ANTOKI30 (D)7
J10-04-300615

+1YYYA.474

donyaiecharkh.com




150~250KG

-

ﬁ‘ (Central Rivet
2 '
£ Ty

® Wheel and material introduction Q <4—{Dust100i Ring]

i md {Ba Beanng]
e H el _‘Lupper : Raceway]

Cede N0:12-613 wheel slructure

Heavy duty PA Whee!
size:40/50/63/75 (mm)

| Bracke! |
ey

LS

{ :we_r Ball RaoeWay]

-~

J12-01-40-613
40(1%) 150 62
J12-04-40613
J1291-50613 47
50(2") 180 ¥ o's
J1204-50 613 AY7 845
50 THE  (comes Es)hms (085
Daoriin
(PA)  J12.01-63.613 55.5
63(21) 200 85
J12-04-63-613
J12-01-73-613 o4
75(3") 250 e
J12-04-73.613

«1YYYH.474

donyaiecharkh.com




'. sSeéer f. €S Advance version) 20~-50KG

2 3 7 e
s = = L=
¥ ) i i - % = i,
e " o L ' B
I = i Wk Yy * e
e R ! TN
L i
iy - v
o= - - e
=4 e g L e It e L
C e 5 H i
-
d 1

WP36-01E-50421  50(2°) g6 92 (A)60X4S
20 ()35
WP36-01E-63421  63(28) 25 98 g2 8 (AJTOXS?
Singho
8ovirg
WP3601D-75421  75(3") 35 118 104
25 (AT3X60 (D)5
WP36-01D-100421 100(47) 45 143 113
WP36-01E50-211  50(2") 25 86 Q2 (AJGOX4S
20 (0% 5
m Ty WP36-01E-63-211  63(2}) 30 s 92 (A}T0X52
S )
-~ SNYe 632
b (PU) . e
WP3G01D-75.211  75(3") 40 118 104
. 25 (A)T3X60 (0} 5
WP36-010-100-211 100(4") 50 143 113

: ser l ESanrmaI version)

GP36-01E-60.143  50(2%) 25 92 (A)60X49
20 [12)"-13
GP36-01E-63-143  63(23) 30 98 92 (A)70X52
HE
(YUPA) -
GP3601D-75-143  75(3") 40 118 104
25 (A)73X60 (D)8 5
GP36-01D-100-143 100(4°) 50 143 113
GP36-01E50-233  50(2" 20 92 (AJBOX4Q
20 ©®s
GP3601E.63233  63(2}) 25 1S58 92 (A)70XS2
(PU) Dedinn
BrISOINSZIS | 75(3") 35 118 104
25 (A)73X60 (DRS
GP36:01D-100233 100(4") 45 143 113

donyaiecharkh.com

ZEERL A A R T




) 7series 15~25KG

1FLP02 02E334%  38(13) 40 2.5 MB8X15

IFLPO202ES0453 50(2) 50 18 60 50 725 <SHFP M8X1s

1F-LPO2-02E634% 63(2}) 50 22 78 65.5  90.5 M10X17.5
1F-WP02 02638463  38(1) 4 12 49 42 62.5 M8X15
I
@ rpRy FHRRREDGS Soz) | 5D 18 60 50 725 TF mexis
1F-WP02026-63463  63(23) S0 22 78 655  90.5 M10X17.5

) Z?series 15~25KG

1FBPO202E38213  38(1)) 40 15 49 42 62.5 M8X15

1F.BP0202650-213 50(2") 50 20 60 50 725 HHE M8X15

1F-8P0202E.63213 63(28) 50 25 78 65.5  90.5 M10X17.5

1F-WP02.02E-38223  38(1}) 40 15 49 42 62.5 MB8X15

(PUy TFWPR202E50223 50(2) 50 20 60 50 725 o= MBX15

1F-WP02-026-63.229  63(2}) 90 25 78 655  90.5 M10X17.5

donyaiecharkh.com 7742 «31YYYH+47%



Design & Print @ M. Jafari / 0912 434 1917

°)=

The world of wheels

the world moves because of us

2018

donyaiecharkh.com

«1YYYH474



P05 «A1YYY 454

donyaiecharkh.com {

The world of wheels

J;"ﬂ”

[
"’ uuuuuuuuuuuuuuu

+1YVYYH.79

donyaiecharkh.com





